FISEZFHRYIVRE
INERBF1 - 2FEDE (2 Km)

ALk SR

FoE% oy K % PR /ERR | BF
1| 8.22.5 | 44 A =4 SE—/ | 25
2 8.22.7 | 22| EN {-mBy RO | 2&F
3| 8.38.4 | 34 Bk EE R | 2%
4 8.38.7 | 46 EENET SE—/ | 2&
5| 8 .41.0 | 48 B FAN EEEN | 2%
6| 8.42.1 | 19| I8 ,BAER RO | 2&F
7| 8.46.3 | 30 BE 15 fRN | 25
8 850 1 | 49 ER AE EEEN | 2%
8.50.3 | 21 = A RO | 2&F
8.52.1 | 25 ¥R E# —F@EN | 25
8.55.3 | 43 A == SE—/ | 2&
9.12.5 | 45 I% W SE—/ | 2&
9159 | 5 TS T
9.16.7 | 11 ik BE wmEN | 2F
9.16.9 | 14 | MFH MK wmEN | 2F
9.19.9 | 37 IR B CERN | 25
0.26.8 | 17| =3 AR BOIFRN | 15
9.29.2 | 39 g AR 2E—/ | 1&
9.30.3 | 47 ARE & SE—/ | 2&
9.32.2 | 36 WA W CEFN | &
9.33.0 | 20 BwE HAT RO | 2&F
9.33.4 | 26 T —F@EN | 25
9.38.4 | 23| UM B S
9 38.8 | 31 AR EX R | 2%
90 45.2 | 42 I A8 SE—/ | 2&
9.59.1 7 BiE X 12/ 14
10.07.9 | 13 | KT HZ=3 wmEN | 2F
10.09.2 | 9 EA —B mEN | 1&F
10.09. 7 | 15 BN X wmEN | 2F
10.10. 2 | 41 A%R 23 2E—/ | 1&
10.38.0 | 2 INE 18E TREE
10. 41.0 | 40 NE P SE—/ | 1%
10.42.8 | 29 | ®AM IEAE fRN | 25
10.43.7 | 6 AT BB mEN | 1&F
10.44.0 | 4 ®ZE B} 12/ 14
11.05. 8 | 24 2R & S
11.09.5 | 8 MR WA mEN | 1&F
11.24.6 | 18 | #AK &b BOFN | 1&E
11.25.8 | 27 0 ®A fRN | 15
11.26.1 | 28 2k 58 fRN | 15
11.35.3 | 38 B BE 2E—/N | 1&
11.43. 4 | 32 ELE R | 2%
12.28.1 | 1 I A mEN | 1&F
12.46.7 | 16 WE B% BOIFRN | 15
13.22.7 | 3 B BE mEN | 1&F

10 F [E 12/ 1% |R

12 oA —% 12/ 29 |R

33 HiE FH g/ 29 |R

35 B EER g/ 29 |R




FEISREI_FMENYIVVRE

LERSE

Q@ INERZF1 - 2FEDE (2Km)

& iz ECEk [t K % FRE/MEH | FE | ®KE
1 9.25.0 14 Eik K= AR/ 25
2| 9.49.1 23 g i H 3R/ [§:3
3] 9.50.9 17 BR ER AR/ 24
4] 9.51.6 1 iR KAk GIEUN 14
5/ 9.53.6 26 BiR # {ED R /)N 24
6| 10.08.5 10 HO 3K BRI 14
71 10.14.0 19 INEIR BT —F@A/ND 25
8] 10.16.1 6 FaEE HEEF &R/ 25
9] 10.16.6 5 I #%7E A8 /N 24

10 10.17.0 16 =X EfH BRI 25
1] 10.22.3 24 HHE #HE 3R/ 25
12| 10.27.0 12 INEIR =B BRI 14
13| 10.28.0 4 fik HE A8 /N 15
14 10.30.4 15 BE 1 BRI 25
15| 10.33.9 21 TF Ex 3R/ 14
16 10.42.3 25 ¥ RE H 3R/ 25
171 10.46.0 11 Rl Fiy AR/ 14
18] 10.52.0 2 RE MWK &R /s 14
191 11.02.9 32 ] WY S RS 15
20| 11.07.9 8 WE =& BRI 14
211 11.08.7 29 IZNR 225 EH—/N 24
22| 11.28.7 22 ER = H 3R/ 14
23| 11.38.5 31 AR DxE FEFD 14
24| 11.42.8 21 ERK FH EH—/N 14
25| 12.04.9 3 8 T A8 /N 15
26| 12.14.9 33 2l WERE LB/ 14
27| 12.15.6 20 EE A 3R/ 14
28| 12.16.0 13 EE MEME BRI 14
29| 13.34.6 9 HE HXE AR/ 15
30| 13.53.5 30 EE 13 EH—/D 24F
31| 14.30.6 28 BN EE EH—/N 15
7 MR XD &R /s 2% (R
18 HPEE EX —Fa 1§ |R




FI5EZFHRYIVVRR
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R INERBF3 - 4AFHEDE (2 Km)
JIE 52 8% €y K & ERE/EFT | FE | HE

1 7.22.5 | 151 AA &3 HRFN A5
21 7.23.7 (1217 Rif & g/ 3FE
3 7.35.6 | 152 & BEAH HRFN A4
4 7.43.8 (124 miE EHiE =i\ A4
5 7.48.2 | 150 BHO BS HRFN 3
6 7.57.1 (143 g K EH—/) 3
71 8.01.4 |126| /IN&EFR EFHiE ZRAf/N A5
8 8.10.4 | 118 £0 EB AT/ A5
9 8.12.5 (133 ik BiE g/ A4
10 8.13.8 [125 kiR XX =i\ A
11 8.14.6 | 145 B piZ EH—/) 3
12| 8.18.0 (110 e SREER AT/ 3
13| 8.24.2 [ 131 ERE EXH g/ 3FE
14 8.34.2 [153 MO B HRFN A5
15| 8.34.5 (140 KK BB £HE—/) 3
16| 8.46.4 (117 HIE R AT/ A5
171 8.50.1 (132 Il HIE g/ A4
18| 8.51.4 (148 HEFR 34 £HE—/) A5
19 8.54.7 [106 ®E Xix 12/ 3F
200 8.56.3 |102 +xXF B &R/ 3
21 8.56.6 | 138 BT A EH—/) 3
221 8.56.9 | 129 BE X% g/ 35
23] 8.57.9 | 101 BERK &£w &R/ 3
24 9.04.3 |105 He B0 12/ 3
25 9.08.9 |128 T 2 ==F I 3FE
260 9.11.2 1130 I x&F g/ 3F
277 9.12.7 1109 B HE 12/ A5
28/ 9.14.0 | 119 ERR B AT/ A5
29 9.17.9 | 136 KFE  HHER R /)N A5
300 9.18.9 | 113 Tk AT/ 3F
31 9.20.5 | 115 s 1EAKER BYFR/N A
321 9.20.7 |107 INE A &R/ 3
331 9.22.7 123 A OBk =i\ A
34 9.28.1 1103 =7 I 1| 12/ 3
35 9.35.9 | 114 M mE BYFR/N 3FE
36/ 9.38.4 | 111 A &S AT/ 3
37 9.56.1 112 HO #E# AT/ 3
38 10.07.5]1104 INE OERER 12/ 3
390 10.17.5]1122 A K ZR@/h 3FE
401 10.29.1]134 £ Eif {ZEF 3
411 10.37.41116 s BE BYFR/N A5
42 10.47.3|142 B K EH—/) 3
431 10.57.61120 A nH AT/ A5
44 11.01.7 (137 lLEE £F EH—/) 3
45 11.02.1 (147 BHO & EH—/) A5
46 11.37.6|135 SH Bk {ZEF 3

108 - N 12/ AFE (R

121 BR =k AR AFE (R

139 K=ZE i EH—/) 3FE &

141 W —I EH—/) 3FE &

144 b EXR £H—/ 3FE (&

146 B =y EH—/) 3FE &

149 PE —E HRFN 3FE (&
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@ NEREFI - 4FEDE (2Km)
Gz | EEER  [tvr> K % FR&E/MEM | FE | B3

11 8.11.4 [ 117 FTE ¥ R/ 35
2] 8.13.7 |105 +XF FE A& [ /)N A5
3] 8.30.8 | 120 HHE™M BE BRI 35
4] 8.31.5 | 131 B T EH—/D 44
5| 8.48.7 | 101 N IDBE A& [ /)N 35
6] 8.52.4 | 111 =i B B IR/ A5
7| 8.53.7 | 109 Tl ERE B IR/ A5
8] 8.59.9 | 108 =% BN A& [ /)N A5
9] 9.02.2 | 118 hAf HI= BRI 35
10 9.05.5 [ 119 BE = BRI 35
11 9.07.2 | 136 iR BB EH—/D 44
12 9.12.7 [ 125 NHE  FEWR ZEFN 35
13] 9.14.1 [ 102 fid HH A& [ /)N A5
14 9.18.6 [ 122 PH BR BRI A5
15 9.24.7 | 106 piE A& [ /)N A5
16| 9.26.3 | 138 hiE ER REF/ 35
171 9.26.9 [ 115 Me FA BRI 35
18] 9.27.8 [ 121 eH W=D R/ 35
19] 9.30.4 [ 135 IEEF LWEY EH—/D 44
20 9.34.0 | 126 R HH ZEFN 44
211 9.47.6 | 112 KR &R ZFaAh 35
22] 9.51.8 | 124 IEx =5 ZEFN 35
23] 9.53.9 | 113 LR IS ZFa/M 35
241 9.55.1 | 139 Ay BX LN 35
25| 9.55.9 | 129 INEIR T EH—/D 34
26] 9.59.2 | 127 D EH—/D 34
271 9.59.8 | 128 WNER B EH—/D 34
28] 10.07.1 | 110 BRE R B IR/ A5
291 10.18.1 | 130 FIEE  faiE EH—/D 34
301 10.22.6 | 137 S EH—/D 44
311 10.23.7 | 123 FE OBE ZEFN 34
32| 10.27.6 | 103 i A& [ /)N A5
33| 10.45.9 | 134 ERK F= EH—/D 44
34] 10.46.6 | 133 R EH—/D 44
35| 11.23.3 | 116 WE mx BRI 35
36| 11.58.8 | 107 BmH Ex A& ] /)N A5

104 WRBA  RMEWD A& [ /)N 45 |R

114 By EBF ZRFdE/ 3F |R

132 B AhA EH—/N | 4F R




FIGREIZFMEYIVYKRE

ALk SR

® IMNERBF5 - 6FEDNEP (3 Km)

[=Riva SOER tory K 4 PRE/1EFR | 2E | BB
11 10.05.8( 204 +XF B— &/ 6F | KEH
2 10.45. 4] 213 % BA L/ 6F | KEH
3[ 11.22.9] 225 AEH HRE HiEFN 5%

41 11.39.0] 222 A+ HiE £H—/h 64

5[ 11.58.8| 210 FE ME gL/ b4

6] 12.00.5] 217 fE BE £H—/h 5%

71 12.37.2] 220 IEE Eth £H—/h 5%

8] 12.40.5] 215 BE —5F fEIR th /] 5%

9] 12.43.0] 224 He FIX £H—/h 64

10 13.04.4| 214 o B gL/ 64

111 13.09.9(216 FE 25 fEIIR M /N b4

12 13.11.7|226 T BE REF/N 5%

13 13.13.1|202 INEF mEe 12/ b4

14 13.13.6| 205 IAE BHYFr/N b4

15| 13.14.01( 223 £k fE—ER £H—/h 64

16 13.18.11] 201 WmHiE BE 12/ 5%

17 13.50.91( 211 HHE KX gL/ b4

18] 14.11.01( 203 BOEH &/ 5%

19] 14.53.21( 209 IfE i gL/ 5%

201 15.15.8 207 XiR 1 ZRAE/N b4

211 16.11.81] 219 EAXAN K £H—/h 5%

22| 16.44.61| 208 I # ZRa/N 64
206 B B AEIFR/ 5% (K
212 EiE KE gL/ 6F (X
218 KZE @3} £H—/N 5% (K
221 EL EX £H—/N 5% (K

® MNERELFS - 6FEDNEF (3 Km)

[=Riva SOER tyyry K 4 PRE/1EFR | 2E | BB
11 11.48.7 (216 =E IS HiERFN 64
2 13.01.0( 217 K OHME HiEFN 64
3] 13.19.6] 208 = 1| A= L/ 64
41 13.29.91] 209 i EEs gL/ 64
5[ 13.49.8] 218 [P E . ELEESZIN 64
6] 13.59.6]212 A s £H—/h 5%

71 14.00.3] 204 M RES BHYFr/N b4

8l 14.27.91211 ARH ¥ £H—/h 5%

9| 14.31.4|206| ®=B™H =@ SEN 3

10| 14.46.51( 202 Ll KT BHYFr/N 5%

11 14.58.11 210 Tk #IIE £H—/h 5%

12 15.08.71| 203 LA HE BHYFr/N 5%

13 15.09.8 (215 AEA FFH £H—/h 64

14 15.37.5(213 INER OFE £H—/h 64

15 18.37.9| 214 I+ #EE £H—/h 64
201 INK DM 12/ 6F (X
207 Wig  #F gL/ 5% (K
205 At F ZRf/N 6F (X
219 gl BEXE LR/ 5% (K




FISREIZFMERYIVIYRE

— iR ZFDE (3 Km)

R

JIE 3z kg i K £ A/ | 2| HE
1 14.59.0 | 402 B E=H —_Fm 45
2 15.28.7 | 403 Ik /T =) 66
3 16.20.4 | 401 WA ERF ] 38
© HTERBFDOE (5Km)
JE AL A0 HK s K £ FRA/MEF | FE | HE
1 17.22.4 | 301 Bf & faff] g 34
2 19.31.7 | 303 B &R SH—F 34
3 20.13.6 | 304 B % S H—h 34
4 24.30.3 | 302 IZEEE B SH—F 34
@ 39FUTBEFDE (5Km)
JE AL A0 HK s K £ FRA/MEF | FE | HE
1 17.46.1 404 S EER Z_Fmh 26
2 19.06.5 | 403 yNEEES Z_Fmh 21
3 20.23.8 | 406 ZIEg F— Z_Fmh 32
4 20.44.7 | 401 T HE Z_Fmh 20
5 25.43.2 | 402 FIE A —_Fm 21
6 26.35.7 | 405 T Rt Z_Fmh 29
@ 40mMULS OFBUTEFDE (5 Km)
JE AL A0 HK s K £ FRA/MEF | FE | HE
1 19.07.2 |[502 INER O BSAI =FHT 41
2 21.04.5 | 505 WA BB AT 48
3 23.46.0 | 506 Fih IEiL BEfE ™ 52
4 23.51.7 |504 BOE#H ] 48
5 24.46.4 | 508 Ei B —_Fm 59
501 EOAC Z_Fmh 41 &
503 A 7 Z_Fmh 46 (&
507 ERK B BE 52 |&
@ 60MULBFDE (5Km)
JE AL A0 HK s K £ FRA/MEF | FE | HE
1 22.24.4 602 A+ HFif A BB ET 63
2 22.35.5 601 HER =8B NEH 62
3 24 .47.4 1603 h7l H— Z_Fmh 64
4 33.01.9 |605 NFHFE B— Z_Fmh 15
5 37.26.7 |604 Tk & Z_Fmh 67
6 51.22.5 | 606 HEE =EB Z_Fmh 90
A—Josm
JE AL A0 HK s K £ FRA/MEF | FE | HE
19.26.4 702 INER R ER HEHREERFHRE 1 3km
22.17.7 | 701 }EE W2 nryzEen-FagEl | 3km
JIE 3z kg i K £ A/ | 2| HE
20.09.3 | 701 A2 kit srrzEeg-Fouz| | 3km




